Light Bar Brackets

LB0004
N L LB0004
5 El f iy Light Bar Bracket
-2 75l 1) Finish: 120 grit ground for
r painting.
5. E 2) Shipped with cover installed.
SURFACE %
LB0005
i e e i LB0005
1001 = -

4
l“ Light Bar Bracket
380 HOLE 1) Finish: 120 grit ground for

(4 PLC.) ol
painting.
2) Shipped with cover installed.
LB0006
8 il e LB0006
gy - .
hssley REae ~ Light Bar Bracket
(4 PLC.} .=

1) Finish: 120 grit ground for
painting.
2) Shipped with cover installed.

©2021 Cast Products, Inc. All Rights Reserved www.GETCPIL.com



LB0011

LB0011
Light Bar Bracket

#10-24 TaP

207 -

[—— 330 HOLE
45 (3 PLC)

1) Finish: 120 grit ground for
painting.
2) Shipped with cover installed.

LB0013
Light Bar Bracket
1) Finish: 120 grit ground for

painting.
2) Shipped with cover installed.

F10-24 TAP
~ (2 mLC)

LB0019

LB0019

Stanchion Bracket
2" x 2" Post

1) Finish: Polished or 120 grit
ground for painting.

2) Mounts to a 2" x 2" post or
stanchion.

3) Lid mounts with one #10 screw,

©2021 Cast Products, Inc. All Rights Reserved www.GETCPIL.com



LB0020

285 HOLE LB0020
Stanchion Bracket
2" x 4" Post

1) Finish: Polished or 120 grit
ground for painting.

2) Mounts to a 2" x 4" post or
stanchion.

3) Lid mounts with two #10
screws.

#10 SCREW
(2 PLC.)

LB0021

338 -|_—= LB0021
LA _.

Stanchion Bracket
with Rod Holder -
3" x 3" Post

#10 SCREW-

285 HOLE

(4 PLC) 1) Finish: Polished or 120 grit
o 10 CLR ground for painting.
0 RETAIN

2) Mounts to a 3" x 3" post or
stanchion.
3) Lid mounts with one #10 screw.

THE ROD)
1.25 1.D.

LB0022

LB0022

Stanchion Bracket
15/8" x 1 5/8" Post

1) Finish: Polished or 120 grit
"I ground for painting.
L 2)Mounts toa 1 5/8" x 1 5/8" post
_ or stanchion.
gl 3) Lid mounts with one #10 screw.

#10 SCREW

©2021 Cast Products, Inc. All Rights Reserved www.GETCPIL.com



LB0023

| e |

LB0023

Stanchion Bracket

3/4” HOLE 1) Finish: Polished or 120 grit

#10 CsK (1 PLO) 5/16" HOLE ground for painting.
| (1 PLC) — H: L(j PLC) 2) Lid mounts with one #10 screw.
r N\ il @ 1

1.75
e N L
t 5.00 | l—3.50—|
BODY BODY
(SIDE VIEW) (END VIEW)
LB0024

LB0024
Stanchion Bracket

1) Finish: Polished or 120 grit
ground for painting.

2) Lid mounts with two #10
SCrews.

LB0025-A
tmm—j\ 1:?2?":"’_ .00 LB002 5'A
3 PLL. T e
o Stanchion Bracket

(8 PLLC.) (4 PLC)
41— —d Af— ~008
— 282 — 11 ~1.25
f—p? & | 1 u_ ' 11
252§ 475
f_' #10-24 TAP
}d \ (2 P}
pead 48 ~ll—g25 0,20l
RI6.48
853 (o)

0.54

(Right Side)

1) Finish: Polished or 120 grit
ground for painting.

2) Lid mounts with four #10
SCrew.

J) Recesses a 1" x 4" Marker
Light.

©2021 Cast Products, Inc. All Rights Reserved

www.GETCPI.com




LB0025-B

LB0025-B
o TI;_ - Stanchion Bracket
- (Left Side)

1) Finish: Polished or 120 grit
ground for painting.

2) Lid mounts with four #10
SCrews.

3) Recesses a 1" x 4" Marker
Light

20.51 #10-24 T
(4 PLC)

0.54— — e —
|' ﬂ.E-Bl | |-—4.1B |

LB0026
Stanchion Bracket
/(4 PLC)
cum " 1) Finish: Polished or 120 grit
i _m__;m: ground for painting.
' [ (4P 2) Lid mounts with four #10
i_ 7.76 l_?_ SCrews.
3.06 2.56 3.56
| 12,00

DEBURR INSIDE OPENING

LB0028

LB0028

BRACKET WOUNTED Stanchion Bracket
2" x 2" Post

1) Finish: Polished or 120 grit
ground for painting.

2) Mounts to a 2" x 2" post or
stanchion.

©2021 Cast Products, Inc. All Rights Reserved www.GETCPIL.com



LB0029

LB0029

Stacnhion Bracket
2" x 2" Post

1) Finish: Polished or 120 grit
ground for painting.

2) Mounts to a 2" x 2" post or
stanchion.

3) Lid mounts with four #10
SCrews.

]

10— 24 TAP
(@ FLc) L

LB0031

Enclosed Mounting
Bracket

1) Finish: Polished or 120 grit
ground for painting.

2) Designed to mount Air Homns,
Lights, etc....

LB0032
ereoo 146 LB0032
L 1.37 Y
ﬂFg Jo T gl Stanchion Bracket
i 1.9 3/8" x 3 1/2" Post
340 O 1) Finish: Polished or 120 grit
nish: Polished or 120 g
11.35/’\ ground for painting.
11.48° | 2) Mounts to a 3/8" x 3 1/2" post
3 1;[ 1.32 I3 ?24 38 or stanchion.
d il 3) Lid mounts with two #10
116 108 ] screws,

©2021 Cast Products, Inc. All Rights Reserved

www.GETCPI.com




LB0033

LB0033

Stanchion Bracket

A
N ica )

1) Finish: ball-burnished or
polished exterior surfaces.

LB0034
= LB0034
e LUl () L Mount Bracket -
| e o Light to Crashbar

1) Finish: Polished.

#3/8"—16 TAP 032 |—
!
L e
J O | 1.93

ﬁ‘ll

0.32—1 =

0.80

1.33

©2021 Cast Products, Inc. All Rights Reserved www.GETCPIL.com



LB0041-A

| AT = Rigr_lt Side -
- Stanchion Bracket
and Lid

147 — . Haole Pattern
@0,156 Hole Pallem Patten _
Hole Y?as -4 5,00 \ /

6.50 | .-
T

”‘“ 1 N N # 1) FInlsh: Bright Pollshed.
, 955\ | s 2) Shipped with lid installed.
' Hole
248 - @0,15 Hole 10-24 Tap x7

10-24 Tap x4 .

1,28 " 20.50 . 20,50

ol I— I» D'QE/ 0,95 F Hole
—— = —T
Hﬂﬁ#—— — = \ |M| 1.29

1 1 - 1 1
. 1 1 . h B ) 1 .
5

|l "¢ 2,48 ‘
i —:l Lll.m ’M _J_ Y Hole x2
;4: /—1.9? i U} o ) \
|
|

6.50 l

©2021 Cast Products, Inc. All Rights Reserved www.GETCPIL.com



LB0041-B

NG T Vi LB0041-B
4 et Left Side -
| Stanchion Bracket

%i:: and Lid
z.s|1 _ &

1) Finish: Bright Polished.
2) Shipped wilth IId Installed.

' |
— 245 — @0n,15  Hal
1024 Tap x4 1&-24Tap:;’ﬂ . 1o
X Al r T
A [1.29 - '»u.gb 0os — L Vioie
e —a— — — =4 T
o el AR
| -* - 248 -4 - (1) - e
il W T S
4,75 | | l 4,75 &@0,156
| “ \_ 20156 Hole x2
1:|| 1.9z Hole x2 Q o
1
| 6.50 |
A e

©2021 Cast Products, Inc. All Rights Reserved www.GETCPIL.com



LB0045

LB0045
Angled Light

Box w/ Lid

1) Finish: exterior band is
polished. Lid and opposite side
_‘ '_ 2 53 4 126 are 1?0 grit g.roupd..
2) Shipped with lid installed.

12,05

LB0048
Stanchion

Bracket and Lid

1) Finish; exterior band is polished, Top side is
120 grit ground. Lid is wheel-a-brated.

2) Shipped with lid installed.

3) For 2 1/2" square tubing.

©2021 Cast Products, Inc. All Rights Reserved www.GETCPIL.com



LB0049-A

LB0049-A
Lefthand Stanchion

Bracket and Lid

1) Finish: exterior band is polished. Top side is
120 grit ground, Lid is wheel-a-brated,
2) Shipped with lid installed.

| 5.25

-]
o] ]
O
04,07
=] =]

.00

LB0049-B
pr=====og LB0049-B
Righthand Stanchion
+ Bracket and Lid
1| 1) Finish: exterior band is polished. Top side is
, 821 | 120 grit ground. Lid is wheel-a-brated.
_. 852 | | 6.00 2) Shipped with lid Installed.
IO oo c0s | |
o o | 90,00 |t
5,00 24,00 O 500
o ° 67.5" ||F

©2021 Cast Products, Inc. All Rights Reserved

www.GETCPI.com




LB0051 LB0052

LB0051 and

LB0052
Stanchion Brackets
(Rt and Lft) for 2008

Sprinter
1) Finish: polished exterior
with ground top surface

2) LB0051 Lefthand.
LB0052 Righthand.

I tematyPar Name

1 1 ! Driver - Lefthaond Staonchion Bracket Casting

2 - Passenger - Righthand Stanchion Bracket Casting
3 - Lefthand Access Lid - Stamping

B 20062-1-A Righthand Access Lid - Stamping

LB0053 LB0054

LB0053 & LB0054
e Mars Light - Stanchion
L N Brackets (Rt & Lft)
2as | | 1w 1) Finish: Wheel-a-brated w/ exte-
i f rior polished
2)LB0053-1 Lefthand shown
J)LB0054-1 Righthand is opposite
F244
12.7°

84" _\

—  é58 -..—

-

5871
£.1040

Re.810|

1E14

©2021 Cast Products, Inc. All Rights Reserved www.GETCPIL.com




LB0057 LB0058

ey PART NUMBER DESCRIPTION
1 CR-FHMI 0.19- AHO0045 10-24 x .500" MS Phillips Flat Head Screw
24x0.5x0.5-S Stainless
Lefthand Stanchion Bracket Cosﬂnth2008 Sprinter
2 LBCO0060-1-B and 2015 Ford Transit Ealrgo Van) Driver w/ wire
ole
RE Righthand Stanchion Bracket Casting (2015 Ford
3 LBCOOS1-1-8 Transit Cargo Van) Passenger
2 Lefthand Access Lid Stamping (2008 Sprinter or
4 EBC0062:] 2015 Ford Transit)
i Righthand Access Lid Stamping (2008 Sprinter or
5 IBE00A%: 1A 2015 Ford Transi)

LB0057 LB0058
Stanchion Bracket
Assemblies with
wire/mounting holes (2015

Ford Transit Cargo Van)

1) Finish: Exterior surfaces

polished.
2) For high or medium roof.

©2021 Cast Products, Inc. All Rights Reserved

www.GETCPI.com



LB0059 LB0060

LB00&0-1
ASSEMBLY

LBO059-1
ASSEMBLY

ITEM | PART NUMBER DESCRIPTION

1 AHO045 10-24 x .500" MS Phillips Flat Head Screw Stainless 8

2 LBC0062-1 Lefthand Access Lid Stamping 1

3 LBC0062-1-A Righthand Access Lid Stamping 1 L B0059- 1 L BOOGO- 1

4 LBCO067-1 Lefthand Stanchion Bracket Casting w/ wire inlet 1 2015 Dodge ProMaster L|g ht Bar

hole (2015 Dodge ProMaster) Driver B k t
5 LBCO048-1 Righthand Stanchion Bracket Casting (2015 Dodge 1 e ra(? ets
HoMaSio g enoer 1) Finish: exterior surfaces are

polished.

2) -A version for No Top Holes.

©2021 Cast Products, Inc. All Rights Reserved www.GETCPIL.com



